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in many other industrialized countries. 22. The UK has been more successful than other
countries. 23. It brought unemployment down in the late 1980s.

V. Write out from Text 2 English equivalents for the following words and expressions:
1. He KaXIblid, HYXXIaThCs B pabore; 2. Te JIOIU, Ha3blBaTh, paboyas cuia; 3.
BKJTIOYATh (OXBaThIBAaTh), UMETh PabOTy, 3aperuCTPUPOBAHHBIE Kak Oe3pabOTHEIE,
4. ObITh TOTOBBIM, OBITH HAJIMYHBIM; 5. 107151 paboyeii CUITbI B OOIIEH YMCICHHOCTH
HACEJICHUs, KOJTMYECTBO (B MPOIEHTaX), padouunii Bo3pact; 6. 0ObSBIATH cebsl, pa-
Oouas cuia; 7. OCIEBOEHHBIN POCT, BBI3BIBATH; 8. YBETUUEHHUE, 3aMYKHHE >KEH-
HIMHEL; 9. ypoBeHb Oe3paboTuiibl; 10. BKItoyarh, ObITH 0€3 paboTsl; 11. xoTeTs; 12.
UCKaTh padoTy; 13. ogHako, moOeciokouThes; 14. opummanbHas ctaTucTuka; 15. ¢
AKOHOMUYECKON TOUKH 3peHusi, Takue Jiroau; 16. Bbicokas Oespabortura; 17. yc-
ToMuMBbIN; 18. 3acTaBisATh, pa3padbaTbiBaTh, 00IIas Teopus; 19. oueHb MaJICHBKUH,
KOHeIl ceMujiecaThix; 20. Hauaao BOCBbMUACCATHIX; 21. OCHOBHAs MOjI€lb, IIpUMe-
HATBCS; 22. YCIEIIHbBIN, Ooree . ...... yeMm; 23. CHUKATh.

VI. Translate Text 2 into Russian (in writing).

VII. Translate the Russian version of Text 2 into English (orally).

VIII. Make up meaningful phrases with the following:

1. the postwar growth, the labour force, to be caused; 2. they, to be an increase
in the population, an increase in participation rates; 3. the unemployment, to be,
a certain percentage; 4. it, to include; 5. but, they, to will, to work, to be avail-
able; 6. some people, to look for work; 7. in the UK, unemployment to be high;
8. high unemployment, to be; 9. it, to lead Keynes, to develop; 10. the postwar
unemployment, to be tiny; 11. it, to start; 12. this basic pattern, to apply, indus-
trialized countries; 13. the UK, to bring unemployment down.

IX. Replace the Russian words and expressions with their English equivalents:

1. The UK labour force comprises all those people (umerorme padoty) or registered
as unemployed. 2. The participation rate is a certain percentage of the population of
(pabouwmii Bo3pact). 3. The postwar growth of the UK labour force (Bbi3biBaThCS) by

two factors. 4. They are an increase in the population of working age and in increase
6
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in participation rates by (3amy>xHue >xeHiuHbl). 5. The unemployment rate is a cer-
tain percentage of (pabouas cuna). 6. It (Bkimouars) those who are without a job. 7.
Some people without a job are (neiicrButenbHo) looking for work. 8. Nevertheless
they have not bothered to register as (6e3pabotnsie). 9. These people will not be in-
cluded in (odurmansaas cratuctuka). 10. In the UK unemployment was high during
(romel Mexay BoitHamu). 11. The postwar unemployment was (oueHb MaJICHBKUH)
until the late 1970s. 12. (K nauamy BocbMuaecsThIX) it was starting to increase.
X.  Make the following sentences into questions.
Example: Those people who want a job are called the labour force.
Who are called the labour force?
1. The UK labour force comprises all those people holding a job or registered
as unemployed.

Whom does the UK labour force ............... ?
2. They are being willing and available for work.

What are they ............... ?
3. They declare themselves to be in the labour force.

What do they ...............7
4. The unemployment rate is a certain percentage of the labour force.

Whatis ............... ?
5. Tt includes those who are without a job.

What does it ............... ?
6. Some people without a job are really looking for work.

How are people without a job ............... ?
7. These people will not be included in the official statistics.

Why won’t these people ............... ?
8. In the UK unemployment was high during the interwar years.

When was unemployment ............... ?
XI. Summarize in 10 sentences the contents of Text 1.

XII. Translate into Russian the last paragraph of Text 1.
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XIII. Show why the following statements are incorrect.

1. The average duration of an individual’s unemployment rises in a slump.
This suggests that the problem is a lower outflow from the pool of unem-
ployment, not a higher inflow.

2. So long as there is unemployment, there should be pressure on wages.

3. Unemployment is always a bad thing.

4. The microchip will inevitably cause a permanent increase in the level of un-

employment.

ASSIGNMENT 2
TYPES OF UNEMPLOYMENT
Pre-reading task
I. Answer the questions.
1. What is the difference between voluntary and involuntary unemployment in
your opinion?
2. Unemployment means misery, social unrest and hopelessness for the unem-
ployed. Do you agree? Give your explanation.
I1. Read Text 1.
Types of Unemployment (Text 1)

Economists used to classify unemployment as frictional, structural, de-
mand-deficient, or classical. We discuss each in turn.

Frictional Unemployment. This is the irreducible minimum level of un-
employment in a dynamic society. It includes people whose physical or mental
handicaps make them almost unemployable, but it also includes the people
spending short spells in unemployment as they hop between jobs in an economy
where both the labour force and the jobs on offer are continually changing.

Structural Unemployment. In the longer run, the pattern of demand and
production is always changing. We discussed the reasons why particular coun-

tries in the world economy come to specialize in the production of particular
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